Part Lists & Sheme Rotary hammer SDS plus 900 W, DEWALT D25144K

Gear box:

150 @ 46— 2 | 167" 2|5 b 57
L= | 1 @
@ @ ' ® 800 go1 10
[




Part Lists & Sheme Rotary hammer SDS plus 900 W, DEWALT D25144K

Item
No.

O© N O O & W N P

e ol e e el
© 00 N O Ul Wk o

20
21
22
23
24
25
26
27
28
29
32
33
34
35
36
37
38
44
45
47
48
49

Product
Number

N325879

323489-00
579212-00

N391370

583890-00
578387-00

871690

330065-16
577812-00
577813-00
577814-00
584423-01
577139-00
577814-00

N322087
N417736
N417740

581836-00
577135-00
577130-00

N403105

580990-00

N401306
N361759
N059509
N417747

579699-00

N417751
N325040
N325041
N417753
N264673
N418018

1005844-00

N264672
N417860

1005812-00

N445171

N PR RPRRPRRPRPRRRPRRRPRRPRRERRRPRRPRRPRREPRRRPRRPRREPRRERLERELSRL}PR

Product Description

SCREW

CAP

RING

TUBE

BALL 7MM
WASHER
SPRING

SCREW

SEAL

BEARING NEEDLE
WASHER
BEARING & SEAL
SEAL

WASHER
SPRING
LOCKING RING
GEAR

LOCKING RING
O RING
DAMPER

BEAT PIECE

O RING
WASHER

CLIP

WASHER
BEARING

O RING

PISTON
WASHER
BEARING SPINDLE
HOUSING

O RING
INTERSHAFT SA
WASHER

O RING

GEAR

FELT

SCREW

Type
M4 X0.6 X 42

M4 X 45 T20

48T

19.5x 3.5

28.4 X 2MM DIA

22 X2

64 X 4
13T

M4 X 12



Item
No.

50
51
52
53
55
61
65
66
67
68
69
70
70
71
71
72
79
84
90
92
93
94
95
101
102
104
114
118
119
131
134
137
140
145
146
147
148
150
800
801
836
836

Product
Number

324006-15
N323101
1005795-00
N389438
N091381-00
N271819
N245239
605040-02
330003-60
N346919
N012971
N442577
1005856-00
N442578
1005865-00
1005894-00
798846-02
NO086775
329301-00
330005-01
330065-08
1005879-00
1005879-01
N417861
N418036
N417853
N418051
N417733
577795-00
N403110
583890-00
N091710
N403111
N403112
N403284
582512-02
605256-02
N403113
870889-02
487130-04
596005-99
1003924-99

3
1
1
4
1
1
1
1
1
1
2
1
1
1
1
1
1
1
1
1
5
1
1
1
1
1
1
1
1
1
4
1
1
1
1
1
1
1
1
1
1
1

Qty Per

Product Description

SCREW

PLATE

SPRING

SCREW

O RING

HOUSING MOTOR
WASHER
BEARING
BEARING
BAFFLE

RUBBER PAD
RING

RING

COVER BEARING
COVER BEARING
CLIP

DEPTH STOP
SCREW

CORD CLAMP
CORD PROTECTOR
SCREW

LEAD BLUE
LEAD RED
SELECTOR SA
RAM SA

COLLAR
SPINDLE SA
HOUSING FRONT
RING

SPINDLE LOCK
BALL 7MM
CIRCLIP

HOLDER TOOL
SPINDLE
SPINDLE SA
CHUCK KEYLESS
SCREW

CHUCK & SPINDLE SA
GREASE 90 GMS
GREASE 10 GMS
S.T.CIRCLIP REMOVER
S.T.CIRCLIP REMOVER

Type
M4 X 20 ANU-LOCK

M4 X 40 X T20
18 X2 BLACK

607 (7 x 19 x 6)
8x22x7
44MM

M3 X 8 THDFORM

M4 X 18 T20

22MM HPP

QCC
QCC

SW20

1/4 - 28 UNF (LH)T20

Paragon EP 1/2
GLK-FLUID249NLGI000



Item Product
No. Number

836 1003925-99 1 S.T.CIRCLIP INSERTER
836 1003926-99 1 S.T.INSERT

Qty Per Product Description Type



